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Mr. Schlansky Geometry

CCG Schlansky’s Guide to 65 Review!

1. The vertices of AJEL have coordinates J(5,1), K(-2,-3), and Z(-4,1). Under which transformation is

the image AJ 'K 'L’ not congruent to AJKL?

1) a translation of two units to the right and two units down 3) a reflection over the x-axis

2) a counterclockwise rotation of 180 degrees around the origin dilation with a scale factor of 2 and
centered at the or;Ein

2. In the diag}ﬁi]\ﬂe%‘obu{} pa;le?uelggﬁaﬁ é!%[fﬂ@%épe}zé)tto@aﬁﬁlggﬁm IJKH after a

reflection over line £. Use the properties of rigid motions to explain why parallelogram EFGH is

congruent to parallelogram ZJKH. A /F‘?’PC‘L)O\A 1'> o f"ﬂW’ W)O'{‘ld/\
RS D A cigid webv) plesewes s72e ael angle
: . sl P/Juttﬂj a [ogj‘/u’oml %‘ju@

3. Which rotation about its center will carry a regular decagon onto itself?

1) 54° R
2 Mo,

& 252° 36(7)

4. In the diagram below, which transformation does nor map the
circle onto itself?

1) Rotation of 80 centered at the origin ./
2) Reflection over the line y = x

&) Rotation of 180 centered at (4,0)

4) Reflection over the line x=0 .~
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5. To find the distance across a pond from point B to point C, a surveyor drew the diagram
below. The measurements he made are indicated on his diagram.
Use the surveyor's information to determine and state the distance from point B to point C, to the

nearest yard. () 5=

\j/&d i x=31520
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6. In the diagram below, triangle ACD has points B and £ on sides AC and 4D, respectively,

uch that BE || CD, 4B =1, BC'= 3.5, and AD = 18,
W Lo s
f e e~ foe = iz
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What is the length of :ﬁ, to the nearest tenth? X —“._7'%
45 x=\%y
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7. In the diagram below of right triangle ABC, altitude BL is drawn to hypotenuse z—fl—t‘_J', AC = 16, and
CD=1,
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What is the length f BD to the ea

eit tenth?
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8. After a counterclockwise rotation about point X, scalene triangle 4BC maps onto /25T, as
shown in the diagram below. 5

%hich statement must be true?

LZAd=LR
2) £A=4S
3) ¢B=7TR

4) Ca=TS




9. Given right triangle ABC with a right angle at C, m£5 = 61°. Given right triangle RST with a
right angle at 7, m<R = 29°
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10. As shown in the diagram below, a ladder 12 feet long leans against a wall and makes an
angle of 72° with the ground.

Find, to th rest tenth of a foot, the distance from the wall to the base of the ladder. _

§“” T% x=Nos7)

X
11. The diagram below shows the path a bird flies from the top of a 9.5-foot-tall sunflower to a
point on the ground 5 feet from the base of the sunflower.

To the nearest tenth of a degree, whagfthg measure of angle x?
@ ok A W e 1)
3) 58.2
4; 62.2 Mﬂ@ %’44 = L%
fordanx = 7 (

12. Right triangle TMR is a scalene triangle with the right angle at M. Which equation is true?
1) SMPUST @smi‘”-— cosR AJ{;}V
L2 = U
2) SmR*UOSR 4) Smf= C‘% .SMA’ ( )B W}uh
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13. In a right triangle, blﬂ': IJ 2P = co%\g What is the value of x?
1) 10 3) 20

2) 15
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14. A plane intersects a cylmder perpendlcular to its bases.
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This cross section can be described as a
@ rectangle
2) parabola

3) triangle
4) circle
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15. Find the volume of a cone with a height of 12 in and a diameter of 8 in rounded to the nearest

hundredth.

i = TBLo
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16. In the rectangle below, UN =8in and KN = 3in. Find the volume of the three dimensional
M by rotating rectangle FUNK continuously about side FK in terms of .
J /

)/ =moh
|/ :NB]J(‘G)

y="TT

M

%
="

@l

ﬂéxf“ ‘1‘)’.0!3 TT‘/'/]

17. Find the center and radius of the circl whose equatlon is x° +y +6x-2y—-4=122,

%}éxij’i%j:g(g )24 1=3)=1
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18. The line y = 2x - 4 is dilated by a scale factor of = and centered at the orlgm Which

— et —
equation represents the image of the line after the d11at10n‘7
1) y=2x-4
CPry=2-6 m "';l
SO e A= 2() = b =l
4) y=3x-6 ?
S shPe

19. What is an equation of the image of the @Lﬁer a dilation of a scale factor of 3
i “ g -— 4

centered at the (2,-1)? SGHUL g e b

g 8 e b nekotiia Dy,

4 Y= —g—3

e Jecca|
m‘-*% | ”@Q L Slo
%‘x +35. What is an equation of the line that is perpendicular to
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20. The equation of a line is y =
the glven line and that passes through the point (4,2)? n.\_]_ — --22

D =33 3'3""’” h) X :‘{
2) }’=%x—4 -3b< ‘.{) =2

3) y=—%x+7 b
2 =J = +
&y:—%x+8 jl'g %Xf'a
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21. What is an equatior; or% tge line that passes through the point (6, 8) and is perpendicular to a
line with equation y = = x+ 57 '
D y—3=q§(x—6: 2 m-i-:‘% j‘j;":m&%\‘
2 ‘ N =l j sl B~ —_:,Lx-(./\
Ay-5--L-g) J=€ -
D yese3xe6)
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y+8=—%(x+6)



22. Directed line segment SB has endpoints whose
coordinates are S(—6,3) and B(9,-2). Determine

the coordinates of point ./ that divides the segment
in the ratig’2%0 3. M3=3
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23. Triangle DAN is graphed on the set of axes below. The vertices of /24N have coordinates

D(=6,-1), A(6,3), and W(-3, 10), an g
What is the area of A DAN? AQ:&U !ﬂ; 37)'5'
60
3) 20413 L
4) 40:/13 An = apbu_ P
65 132 = 503Uh.s .
(W 2 Ao=dln =315 ¢ {3
LI Lia= (004l =3¢
=t

24. In Circle O, oMC =150 and mAH =70. Find m/P

- v 2N =15090
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25. In the diagram below of circle O, chords AF and CD intersect at E.
If m/AEC = 34 and mAC = 50, what is mb_g?

. |
‘ NVA=actar
o B
ST B
A D = X+50
=) =0
(=X

26. In the diagram, AD is tangent to circle O at D, and CBAis a secant. If AD = 6 and
AC =9, what is AB?

(- =W
2 bo=a-x

= /9

27. In the diagram of circle O below, chord AB intersects chord €D at E,DE=2x+35 FCU=73,
AEF=4x-3 and EF =4.

What is the value of x? P ‘ P :FP
D
D)= 03




28. In the diagram below, quadrilateral SBRE is inscribed in the circle. If mZBRE =91° and
mZSBR =40°, find mZBSE and mZSER

oosite audy add > 16
K=o  doty=lso
‘Z’# A —qo - =40

dortHA TN

29. In circle O, if £ BOY = 80° and BO =8 cm , find the area of sector BOY in terms of 7.

Zpo
A=on{8) " |2
il Y

30. Quadrilateral FRDY has vertices F(-2, -8), R(7,-1), D(10,10) and Y(1,3). Using coordinate
geometry, prove that quadrilateral FRDY is a rhombus but not a square.
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